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Review for Final #30 Date Period
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State the quadrant in which the terminal side of each angle lies.

4) -107° 5) 520°
T “107° s

Find the reference angle.
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Convert each degree measure into radians and each radian measure into degrees,
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Use your unit circle and find the exact value of each trigonometric function,

12) cot g ==\3 13) sin @ =V

¥ Ay
5
¢ i%’ & : 2 (@ 5 1/2:)
J. lsou "330 o . 12
_‘?- Spe \ -— - s/ 3@0 '/2;
_{"% X \-/E X
2 2
Y ¥
14) tan 6 =] . 15) cse o = 2Y2 N
ik
=157 Vz, 3 - &
- 7 uge ?‘;; 2 | 66° N \.,]«;E:'- IEN
k//ﬁ x ‘%_/ ¥
—240°
Y Y
©16) tan330° = ~V%4 17) sin 360° = &
18) cos(—135°) = ~V3 19) tann = ©

2

Solve each triangle. Round answers to the nearest tenth.
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21) Given the following point. Graph and find all six trigonometric functions. State the reference angle.
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Find the length of each arc.

22) ST e

Find the area of each sector.
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Using radians, find the amplitude and period of each function.
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Graph each function using radians.
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32) y=3cos|{f—-—|-2 5. with an angle of depression of 4°, If the
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Find the measure of the indicated angle to the nearest degree.
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